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NC11 P3-12
2025-06—-15 (Day 74)
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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['1", "lopt’], ['T", "Topt'], ['RH’, 'RHopt'], ['ETcl’, 'optETcl'], 'LAI', 'optEtRate']
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forP3-12_0
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P3-12

FfiE) | EBIAT (FD) | ERE (EA/4R) | BEREE(B/R) | XS ERE

08:00 273 150.0 2.888 [dhig| FhHA@08:00 KENFEF (KAfEEER)
08:45 273 150.0 2.888 || FiHRe0s:45 XKENFERF (KEBEREEE)
09:45 273 150.0 2.888 || FMHA@09:45 KENFEF (RA{EEER)
10:35 273 150.0 2.888 [dhig| FhHA@10:35 kENIEFE CRAHEEE)
11:20 273 150.0 2.888 || FmHA@11:20 KEFEHF (GRABERSE)
12:00 273 150.0 2.888 || FmHAe12:00 KEFEHF (GRABEREE)
12:40 273 150.0 2.888 [dhif§| FhHA@12:40 kENIEF CGRAHEER)
13:20 273 150.0 2.888 || FhHAe13:20 kEFEFE CGRAEREE)
14:00 273 150.0 2.888 || FiHA@14:00 KREIEF CGREAZHE)
14:45 273 150.0 2.888 [dhil§| ThHA@14:45 kEIEF CGRAFER)
15:35 273 150.0 2.888 |/\f| FhHPe15:35 kEFEFE (CGRAEREE)
16:35 273 150.0 2.888 |/\f| 7FmHRe16:35 KEFEHF (GRABEREE)
243t 3276.0 (12%) 1800. 0 3EUHKEC: 2200, PH: 5.6

RN S RFERPH 5.6, B THERRHAZIFEZFIEPH, 15F A%
FREVEIN S K KEC 2200. 0




ET (ml/hr/plant)

P3-12_0, Day=74 (2025-06-15)
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P3-12

RfiE) | GEBEATE (7)) | ERE (BEHA/4%) | EBREE (B/R) = EFE

07:55 283 150.0 2.888 Z| {Rigeo07:55 Bz (KREAEHE)
08:55 283 150.0 2.888 FA| {RRi&@08:55 Bzl (kA{EEEE)
09:55 283 150.0 2.888 FA| {RRi&@09:55 Bz (KPA{EEE)
10:55 283 150.0 2. 888 FH| 1BRi%@10:55 Bz (kABERSE)
11:55 283 150.0 2.888 FH| 1Bi&e11:55 Bzh (RAERSE)
12:55 283 150.0 2.888 FH| 1Ri%@12:55 Bzh (RkAERRSE)
2411 1698.0 (6:%) 900. 0 EUGHKEC: 2200, PH: 5.6

TERRHER 2 STEELRTF (184.0 :

ZRIALBRIERE153.0 ml.

FRAVE NS RBEKEC 2200. 0

153.0), AlEEHT—@ % XA HS
REGZ NS KBRPH 5.6, B THEARHAZIFEZhFIEPH, 15F A%




P3-12_0, Day=73 (2025-06-14)
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P3-12

BYiE) | GEBERTIC (RD) | EBE (BAH/FK) | BREE (BF/R) | X8 ERR

06:30 283 150.0 2.888 [Z=| 1Ri%e06:30 Bah (FEEEEE)
07:30 283 150.0 2.888 |Z=| {Ri%e07:30 Bz (KREAEHE)
08:30 283 150.0 2.888 |Z=| {Ri%e08:30 Bz (KREERHE)
09:30 283 150.0 2.888 |Z=| {Ri%e09:30 Bz (KREERHSE)
10:45 283 150.0 2. 888 FA| {Ri&@10:45 Bz (GRAERE)
12:55 283 150.0 2.888 FB| {Ri&@12:55 B3 (FRAFERSE)
13:50 283 150.0 2.888 FA| {Ri&@13:50 Bzl (GkAEEE)
14:40 283 150.0 2.888 FA| {Ri&e@14:40 Bz (GRAERE)
15:30 283 150.0 2. 888 FE| 1Ri%@15:30 B3 (kABERSE)
Bit]2547.0 (9%) 1350.0 3EUHIKEC: 2200, PH: 5.6

TERRHER 2 STEIELRTF (184.0 :

ZRIAKFREBRE153. 0 ml.
large discrepency for begining water status (329:68.0), set to 329 ml.

RBVZW S RIERPH 5.6, BT FEFNIEIZPH, FEFohiFE

FREVEIN S K IKEC 2200. 0

153.0), AIEEHT—@E XA HS
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P3-12

AyiE) | EBIAT (FD) | EBE (EH/4) | BEBRERE (B/R) XS ERR

05:35 283 150.0 2.888 FE| 1BRi%@05:35 B (FkAERRSE)
06:35 283 150.0 2. 888 FE| 1BRi%@06:35 Bz (kBEREE)
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23t 2264.0 (8%) 1200.0 32 HE%KEC: 2200, PH: 5.6

TERRHLER 2 STEIELRTF (184.0 :

ZRIAKFREBRE153. 0 ml.
large discrepency for begining water status (254:81.0), set to 254 ml.

REVZ WS RIERPH 5.6, BT FEFNIEIZPH, FEFohiFE

FH[EKECE (1803.0 vs 3590.0) id 5
FREVEIN S K KEC 2200. 0

153.0), AlEEHT—@ L XA HS
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P3-12

BflE) | GEBRTK (B)) | ERE (EA/) | EREE(B/R) | XS SRR

08:00 283 150.0 2.888 RS {Ri&@08:00 Hah (KAL)
08:35 283 150.0 2.888 BE| 1BRi%e08:35 Bz (KL
09:25 283 150.0 2.888 | {Ri%@09:25 Bz (REERESE)
10:05 283 150. 0 2.888 S| Ri&@10:05 Bal (REAEHSE)
10:45 283 150.0 2.888 BS| 1Ri%e10:45 Bz CGGREEESE)
11:20 283 150.0 2. 888 Bl Rige11:20 Bal (REEESE)
11:55 283 150.0 2.888 S| 1Rige11:55 Bah (REERESE)
12:30 283 150.0 2.888 B 1Ri%e12:30 B3 (GREMEESE)
13:00 283 150.0 2. 888 S| 1Ri%e13:00 B (RFEA{EREE)
13:30 283 150.0 2.888 el Rige13:30 Bal (REAERESE)
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15:15 283 150.0 2.888 B Rige15:15 Bzt (REERSE)
15:50 283 150.0 2.888 BE| Rige15:50 Ba (REAERE)
16:40 283 150.0 2. 888 BE| 1Ri%e16:40 Bz (RF{EREE)
21t 4245.0 (15)%) 2250. 0 32 FE%KEC: 2190, PH: 5.8

WERRNEREEFEEART (184.0 : 153.0), AgEHF—@E XAH5
ZRIALBRIERE153.0 ml.

WREY S RFRPH 5. 77, B THERHAZIFESIAIEPH, 5F A%
HEEIHECE (1847.0 vs 3873.0) 5

FREVRIN S K IKEC 2194.0



P3-12_0, Day=70 (2025-06-11)

150 feeee—fp————f——————f————Ff T ——f——————f
VI, VQ, FRV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET 328 oo
2300 2600 2601 ~
100 - 029 5
772 L 2000 —
E
_ >
50 80 L 1000 &£
60 Warning: lcol [FVI',| "FVO’'] missing
0 .
( o v _
— 907 FRV T
= +
I S
" 40 - o
w =
El =
— 30 - E
1.0
0.8 -
0.6 -
0.4 -
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
0.0
o5 | OPtECO=2743.0, setECB=2190 t
0.6 -
0.4 -
0.2 -
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.8 N
0.6 -
0.4 -
0.2 -
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 |
e ByInit:@D74 01:51: ET=3156 Fg=3300.0 Ro=192.0 t —
£ 400 - i 4000 %
s 1 =
e I —o—o—o - 3000 &
£ : E
< 200 1 ! L 2000 -
1 £
o | \ - 1000 3
1
P — =— — = = e ——— 0
0 1 2 3 4 5 6 7 8 9 [ 10 | 11 | 12 [ 13 | 14 | 15 | 16 | 17 [ 18 [ 19 [ 20 [ 21 | 22 | 23
2 400 - BB | BB | 8| B|B| 8| B8 5 5 5 5 i 5 5 5 i ﬁl 5 R EX EZWTN 2
= . . = = = 1 8
= ByEt @D70 19:36: ET=2342 Fg=2601.0 Ro=nan ! 3000 =
< ! [ 2000 =
= 200 - —
~ L
= L1000 5
0 A—=% — — = 0
0 1 2 3 2 5 6 7 8 9 [ 10 | 11 | 12 [ 13 [ 14 [ 15 [ 16 | 17 | 18 | 19 [ 20 [ 21 | 22 | 23
5 % | % | 7 | % | f | M | % | M | & | FE | M | % | M | & | fE | M | B | B | B B2 |22 82 82182 40000
= 400 - ] =
—_ 1 . . = = = —_
= ByWon:@D74 01:51: ET=2022 Fg=2250.0 Ro=460.0 3000 =
< ' [ 2000 =
. .
= ! L1000 5
1
okt g 0
0 1 2 3 4 5
oo | T | W [ W | W [ |
0.6 -
0.4 -
0.2 -
1808
—_— 4

[ ] | _obs

1000 A —@— PPFD_obs

500 -

80 A
60

40 -

20 [ ) RHo_obs

RH
[ ] RH_obs




29.

29.

29.

29,

28.

30.

30.

29.

29.

29.

29.

30.

30.

30.

30.

29.

29.

400

T T T
600 800 1000

m=555,m FV0=0

—o— M_E

3
=
i

5é0 5é5
m=695,n FV0=0

—0— ME

760 765
m=815,n FV0=0

T —o—

M_E

ﬁ
ik
it

820 825

28.

27.

27.

26.

29.

29.

29.

29.

29.

30.

30.

29.

29.

29.

30.

30.

30.

30.

29.

29.

29.

m=440, FV0=0

M_E

445 450
m=595 m FV0=0

—o— ME

660 665
m=725,n FV0=0

—o— ME

750 7é5
m=850,n FV0=0

725

1 o

M_E

850 855 860

m=470, FV0=0
—e— MNE
29.0 -
28. 8 -
28.6 -
28. 4 -
T T T
470 475 480
m=630,m FV0=0
30.0 - o It
29. 8 -
29. 6 -
29. 4 -
29.2 -
29.0 -
T T T
630 635 640
m=755,m FV0=0
0.4 o ¢
30. 2 -
30.0 -
29. 8 -
29. 6 -
29. 4 -
755 760 765
m=890,m FV0=0
30.50 4 ~®— ME
30. 25 -
30. 00 -
29. 75 -
29. 50 -
29. 25 -
890 895 900

m=510, FV0=0

29.

29.

29.

29.

29.

28.

M_E

5%5 5&0
m=665,n FV0=0

30.

29.

29.

29.

29.

—&— M_E

6%0 6;5
m=785,n FV0=0

30.

30.

30.

29.

29.

29.

M_E

785 790 795

m=930,m FV0=0

30. 50 A

30. 25 A

30. 00

29.75 A

29.50

29.25 -

-o— ME

930 935 940




30.

30.

30.

30.

29.

29.

29,

m=975, FV0=0

75 A

50 A

25 -

00 ~

75

50 -

25 A

M_E

950 9é5
m=470,n FV0=0

53 A

52

51 1

50 -

49 -

48 -

—— MW

4;5 4é0
m=630,n FV0=0

470

50 A

49 -

48 -

47 -

46

—— MW

?

Gé5 6&0
m=755,n FV0=0

630

49

48 -

47

46 -

45

-— MW

7

755 760 765

30.

30.

30.

29.

29.

29.

m=1035, FV0=0
50 - —&— ME
25 A
00 A
75 A
50 A
25 - T T T 42 % T T T
1035 1040 1045 400 600 800 1000
m=510,m FV0=0 m=555,m FV0=0
52 4 —o— MW 50 - MW
49 -
51
48 -
50
47 1
49 - 46
T T T T T T
510 515 520 555 560 565
m=665,m FV0=0 m=695,m FV0=0
50 —0— MW - MW
49 -
49 -
48 -
48 -
47 1 47 ~
46 -
T T T 46 B T T T
665 670 675 695 700 705
m=785,m FV0=0 m=815,m FV0=0
49 o— 49 1 —— MW
48 48
47 47
46 - 46 1
45 - 45

785 790 795

815 820 825

m=440, FV0=0

—— MW
48
46 -
44
440 445 450
m=595,m FV0=0

50

49 -

48 -

47 -

—0— MW

?

T T
600 605

595
m=725,m FV0=0
—— MW
49
48
47
46 -
725 730 735
m=850,m FV0=0

49 -

48 -

47 -

46 -

45 -

-—— MW

7

850 855 860




m=890, FV0=0

—— MW
48
47 -
46
45 -
T T T
890 895 900

m=930, FV0=0
48 —— MW
47
46 -
45 4
44 L T T T
930 935 940

m=975, FVO0=0 m=1035, FVO0=0
—0— MW —0— MW
48 - 49 -
47 - 48 1
47 1
46
46
45
T T T 45 T T T
975 980 985 1035 1040 1045




